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(m) (m) (kN/ i) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
p 100kN/m%#BZ % - -~ - -[3mEEZS -~ - -| 100kN/mM%EEZ % - -~ | 3mEBZS ~ -
s 1.00 | 0.00 ~ 6.34 79.70 | EnLS | 0o0 ~ 634 1.76 923 st 1.00 | 6.00 ~ 742 79.70 | TS | 5,00 ~ 742 1.76 928
- 100kN/mM%#BZ % -~ - -|3mEBZD -~ -| 100kN/m%#8% % -~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 5.62 70.19 | =S | 0oo ~ 562|210 11.02 st 1.00 | 5.00 ~ 7.90 70.19 | ThSY | 5,00 ~ 7.90| 2.10 11.02
P 100kN/mM%#BZ 5 -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 663 83.61 | #ns | 000 ~ 0.00| 1.71 8.95 st 1.00 | 5.00 ~ 8.00 83.61 | =hs | .00 ~ 800| 1.71 8.95
9 100kN/mM%#BZ % -~ - -|3mEBZD ~ 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 702 89.03 | =hs | 000 ~ 000 1.67 8.24 st 1.00 | 6.00 ~ 9.96 89.03 | #hLS | 5.00 ~ 9.96 | 1.57 824
10 100kN/m%E#8z% | 1.00 | 000 ~ 0.07| 101.09 |3mEBz% ~ -] 100kN/ %8825 | 1.00 | 1099 ~ 11.19| 101.09 |3m%E#BZ% ~
s 1.00 | 0.07 ~ 7.86 100.00 | =nSt | 0.00 ~ 786 | 2.35 12.31 st 1.00 | 6.00 ~ 10.99 100.00 | =nst | 6.00 ~ 1119] 2.35 12.31
11 100kN/mM%#BZ % -~ - -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 000 ~ 698 88.46 | =nLs | 0.00 ~ 0.00)| 1.68 8.30 st 1.00 | 6.00 ~ 9.66 88.46 | =n4 | 5.00 ~ 9.66 | 1.58 8.30
12 100kN/mM%E#BZ 5 -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 6.62 83.68 | =hLs | 0.00 ~ 000 1.68 8.28 st 1.00 | 6.00 ~ 880 83.68 | #n4 | 5.00 ~ 880 | 1.58 8.28
13 100kN/mM%E#BZ 5 -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 697 8831 | #nst | 0.00 ~ 0.00| 1.61 846 st 1.00 | 6.00 ~ 9.26 88.31 | #h4 | 6.00 ~ 9.26 | 1.61 8.46
14 100kN/mM%#BZ % -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 625 7855 | A | 000 ~ 000 | 1.64 861 st 1.00 | 6.00 ~ 7.50 7855 | TNLSY | .00 ~ 7.50 | 1.64 8.61
15 100kN/mM%#BZ % -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 723 91.97 | #nS | 000 ~ 723 1.94 10.18 st 1.00 | 6.00 ~ 1052 91.97 | =hS | 5.00 ~ 1052| 1.94 10.18
16 100kN/mM%#BZ % -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 397 49.83 | #nRS | 000 ~ 397 2.08 10.92 st 1.00 | 6.00 ~ 5.00 49.83 | #nS | 5.00 ~ 56.00 | 2.08 10.92
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhLst ~ Fhst ~ FhLst ~ st ~




